67800: Probabilistic Methods in Al Spring 2017/18

Recitation 4: Inference — MAP, Loopy BP

Teaching Assistant: FEitan Richardson

Recommended reading:

e PGM Book, Chapters 11, 13 [I]

4.1 Reminder - Variable Elimination for Probability Queries

In class we saw how to perform probability queries such as:
e P(Y), Y C X — Marginal probability distribution
e PY|E=¢), X =XUYUE - (Marginal) Posterior probability distribution
e P(E=¢), EC X — (Marginal) Likelihood of an observation (output is a scalar)

All marginal queries require summing-out a subset of variables, an operation that if done naively is expo-
nential.

We saw in class how in some cases (e.g. chains, trees) we can exploit the graph structure to reduce the
number of computations. We defined the Sum-Product Variable Elimination algorithm — an exact inference
algorithm that eliminates (sums-out) variables one at a time in a given order. The computational cost
depends on the original factors and selected elimination order.

We then defined the clique tree (CT) structure and the properties that must hold in it (tree structure, family
preserving, running-intersection). We saw how a BN or MN can be represented as a CT. We saw the Sum-
product-VE (or Belief Propagation) message-passing algorithm for clique trees, which outputs the marginal
probability of every node — P(C;). We saw that the complexity depends on the size of the largest clique.

g~ Any graphical model can be represented as a CT, but the size of the largest clique could be high, making
the solution expensive. In such cases, the approximate loopy algorithm can be used.

4.2 MAP Queries

In MAP queries, we want to find the most probable joint assignment to a set of random variables, usually
given some evidence.

MAP(W |e) = argmax P(w | €) = argmax P(w,e), X =W UE

B&” Moving from conditional to joint is possible because we are only interested in the argmax.

In marginal MAP queries, we want to find the best joint assignment for only a subset:

MAP(Y | e) = argmax P(y | e) = argmaxZP(y,z le), ¥ =XUYUE
y y Z

1 Original LaTeX template courtesy of UC Berkeley.
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U=~ Not to be confused with MAP estimate — Maximum a posteriori estimation, where we estimate the most
probable model parameters.

Examples:

e Find the most probable combination of causes explaining a set of symptoms.

e Decoding a message (series of bits) over a noisy channel — we want to output a single (most probable)
assignment

4.2.1 Performing MAP inference

Computational complexity (in the general case) is N'P-complete, like probability query. The graph structure
can be exploited to reduce amount of calculation.

Unlike probability query, we can use the unnormalized product of factors:

1 - .
€MAP — arg max Py (€) = arg max EPq)(g) = arg max Py (§)
3 3 13

(For BNs, this is equivalent to moving from the conditional to the joint probability)

& Computing the partition function is equivalent to performing marginal probability query — Sum-Product.

The algorithm for MAP query is called Max-Product and is similar to Sum-Product.
For calculating a marginal MAP query, we perform both max and sum.

There are several algorithms for finding the maximum (optimization algorithms).

4.2.2 Max-Product Variable Elimination

In order to find the arg max we first need to find the max:

Example 4.1 BN A — B

max P(a,b) = max _P(a)P(a, b)}

Like in sum-product, we can push the max operation forward. We define new factors that are the result of
the factor mazximization operations.

Definition 4.2 Factor Mazimization (max-out a variable from a factor and create a new factor w/o it)

Y(X) =maxd(X,y), ¥V ¢ X
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Useful (trivial) properties: When X & Scope(¢1)
max(¢1 - ¢2) = ¢1 MAX P2

m)?(lX(éﬁl + ¢2) =1 + max ®2

Find the differences...

Algorithm 1 Sum-Product Variable Elimination (short version)

1: procedure SUM-PRODUCT-VE(®, Z1,..., Zy)

2 fori=1...kdo

3: & = SUM-PRODUCT-ELIMINATE-VAR(®, Z;)
4 return [[, 4 ¢

5. procedure SUM-PRODUCT-ELIMINATE-VAR(®, Z)
6 by ={¢p € P,Z € Scope(¢)}

T ¢Z = H¢€<I>z (b

8 Tz = ZZ ¢Z

9 return (o — dy) Uty

Algorithm 2 Max-Product Variable Elimination (short version)

1: procedure MaX-ProDUCT-VE(®, X1, ..., X))
2: fori=1...kdo

3 ®, px, = MAX-PRODUCT-ELIMINATE-VAR(®, X;)
4 x* = TRACEBACK-MAP (¢x, ... ¢z,)

5: return z*, ¢

6: procedure MAX-PRODUCT-ELIMINATE-VAR(®, X)

7 Oy ={¢p € D, X € Scope(¢)}

8
9

¢X = HqﬁE(I’z ¢
: Tx = max, ¢x
10: return (o — &x) U7x, ox

11: procedure TRACEBACK-MAP(¢x, ... ¢s,)
12: fori=%k...1do

13: r] = argmax ¢x, (vs, i, ... T})

Example 4.3 The Stopped Car (Figure

Lets calculate the MAP assignment for all variables: MAP(M, F, S)

Our factors are: ¢1(M) = P(M), ¢p2(F) = P(F), ¢3(S,M,F)=P(S|M,F)
The algorithm input (with some order): ® = {¢1, 2,03}, (S, M, F)

Run:
1. Eliminating S:
M | F | max,(¢s)
010 1
b5 =¢3, ps=¢3, 5= 0 | 1 0.5
110 0.8
111 0.9
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Mechanical Forgot to Fill
09 01 Problem the Tank 06 04
1 0
Car Stopped
0.5 0.5
0.2 0.8
0.1 0.9

Figure 4.1: Bayesian Network example — The Stopped Car

2. Eliminating M:

M| F|¢1-71s
010 0.9 F ‘ max, (dar)
(I)JW = {¢1vTS}a ¢M - 0 1 045 , TM = 0 09
1 (0| 0.08 1 0.45
111 0.09
3. Eliminating F:
F | ¢y

0.54
0.18

Op = {p2,Tm}, OF = , TP = mjz}xgbp =0.54

Traceback (F, M, S):
fr= arg}HaXsﬁF(f) =f°
m* = argmax gar (m, f°) = m®

s* = argmax pg(s,m°, f°) = s°
S

IZ” Since our factors were normalized, the final ® is the probability of the MAP assignment — 0.54 in our
example.

4.2.3 MAP query conditioned on evidence

Let’s calculate MAP(M,F | S =1):

Definition 4.4 Reduced Factor
A factor ¢ with scope Y, reduced to an assignment (context) of a subset of its scope U=u, UC Y, is a
new factor denoted ¢[u] with scope Y = Y — U, such that: ¢[u](y') = o(y/', u)

IE” For BNs, to re-normalize (not required for the MAP task), we need to divide the new factor by P(u).

The algorithm input (with some order): ® = {¢1(M), po(F), d3[s|(M, F)}, (M, F)
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1. Eliminating M:

M | F | ¢1-¢3[s"]
010 0 F | max, (oar)
Opr = {1, ¢3[s']}, o= 0 | 1| 045 7= 0 0.08
11]0 0.08 1 0.45
1)1 0.09
2. Eliminating F:
F | ¢y

0.048
0.18

Op ={¢2,7:}, pr= 0
1

, TF = max ¢p = 0.18

Traceback (F, M):
/" = argmaxr(f) = f!

m* = arg max ¢ (m, f0) = m°
m

Given evidence that our car stopped, the most probable explanation is that we didn’t fill the tank (f!) and
we have no mechanical problem (m?).

4.2.4 MAP Inference using Graph Cuts

For a special class of MNs, there is a polynomial-time algorithm for exact MAP queries — graph cut.

Definition 4.5 Graph Min-Cut

Given a set of nodes Z, two additional special nodes s and t and directed edges £ associated with non-negative
weight w(z1, z2), we define a valid graph cut as a disjoint partition of the nodes Z + {s,t} = Z, U Z; such
that s € Z5 and t € Z;. The cut cost is defined as:

cost(Zs, Zy) = Z w(z1, 22)
21€25,22€24,(21,22)EE

The graph minimal cut is the partition Zs, Z; with the minimal cost.

BZ” There is a known algorithm for finding the min cut in polynomial time.

What class of MNs can be (trivially) reduced to a min-cut problem?
e Pairwise (i.e. factors over single and pairs of variables)
e Binary variables
e Factors defined as log-space energy functions with zero energy on equal-valued pairs:

E(xl,,xn):Zez(xl)+ Z Giyj(ilfi,ilfj)

i (@,4)e€

6.z, 25) = 0, Ti = Tj
IV Ny 20, mp £
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Reminder:
l —B(X1,...,Xn)

P@(Xl,...,X,,L): e

How do we construct the graph?

A nodes for each random variables

s indicates 0 assignment and ¢ indicates 1 assignment

Each variable connected either to s or t with cost ¢; (the other cost is assumed 0).

Each pair of nodes are connected with edges with weight w; ; = A; ;

Figure 4.2: Graph cut on a pairwise regular graph — image segmentation
IS 1t js easy to show that the cut cost is the energy function we want to minimize.

IS There are extensions to additional classes e.g. nor-binary discrete variables.

4.3 Loopy Belief Propagation

4.3.1 Cluster Graphs

The clique tree representation of some graphs would have a very large clique. For example, a regular pairwise
MN (grid of n x n variables) will have a cluster of size n, making the computation cost exponential in n.

To avoid this, we define a structure with relaxed requirements — the cluster graph (CG) and a suitable variant
of the BP message-passing algorithm.

Definition 4.6 Cluster Graph (For Loopy BP)

An undirected graph (not necessarily a tree) where each node C; represents a set of RVs.

Each edge C; — C;j represents a sepset S;; C C; N Cj (note the difference from CT sepsets)

Fach factor is a subset of at least one cluster Vj 3is.t. ¢; C C; — family preserving.

Whenever an RV X is in two clusters C;, C;, there exists a single path C; — ... — C; in which X is in every
node and every edge (sepset) along the path — running-intersection for CGs.
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IS The nodes and edges containing each RV form a tree.

I Two clusters can be connected by two different paths (i.e. a loop), but each path will be associated with a
different set of variables.

BE” [ ike with CTs, there might be many valid CGs for a given graphical model.

4.3.2 Loopy BP on Cluster Graphs
The BP message-passing algorithm we saw for clique trees (BP-CT) is applicable to cluster graphs with the
following changes:

e Scheduling: In BP-CT, a node can send a message once it received all incoming messages. Because of
this, we started from the leaves. In CGs, because of the loops, we need another initialization solution
(otherwise we’ll have deadlocks). The solution: Each node sends initial all-one messages.

e Convergence: We run the process (select an edge each time) for several iteration.

At the end of the process, the beliefs are an approximation of the marginal probabilities (see Fig 11.2 in
the book).

IS As we run more iteration, the effect of the original factors increase, but the marginal probabilities converge
to some value.

Concerns:

e Does the algorithm always converge? (No guarantee)
e How do we know when to stop?

e Error bounds?

IS Different CG representations of the same model might output a different answer.

There are several practical methods to speed-up convergence and/or reduce risk of non-convergence:

e Ignore specific beliefs that didn’t converge
e Damping — average the new message with the previous one (reduces chance for oscillation)

e Smart scheduling, for example, send more messages in areas where there is more disagreement

B An alternative solution is to treat the problem as an optimization problem and solve it using methods such
as gradient descent.
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